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(°Cx1.8)+32="°F
kV/mm x 25.4 = V/mil
mm / 25.4 = inches
um/25.4 = mil
Nx0.225=1b

N/mm x 5.71 = Ib/in
N/mm? x 145 = psi
MPa x 145 = psi

N-m x 8.851 = Ib-in
N-m x 0.738 = Ib-ft
N-mm x 0.142 = 0z'in
mPa-s = cP
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Henkel Belgium NV, Henkel Electronic Materials
NV, Henkel Nederland BV, Henkel Technologies France
SAS and Henkel France SA :

Henkel Colombiana, S.A.S.
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Henkel Corporation, Resin Technology Group, Inc.
, or Henkel Canada Corporation H

400-821-2567



TDS LOCTITE® 225, November 2016

2.1

400-821-2567

This document was created and digitally signed by tdierthehiee[2025-87 20P516708130342700.289Z



		tdx@henkel.com
	2025-07-01T16:08:34+0000
	Duesseldorf
	Henkel AG & Co. KGaA
	Digital Signature




